

Module 8.1 – Answer to Exercise 2







ITU/TDG Form 7  ���������Station:  �Completed by:  �Ref.No.�Page  1/1��Forecast of training needs for the period:	from year 		 to  �����CLASSIFICATION OF TARGET POPULATIONS (TP)�����Total numbers�to be trained����TPA:  newly hired technicians for basic installation and repair of telephone services�����500����TPB:  ���������TPC: ���������Acquired capabilities relevant to the job (list only subordinate SKA) ACQUIRED by a significant number of the future trainees.�Task�No.�State for each target population, the % having acquired the corresponding SKA����Recom.�action:�����TPA�TPB�TPC�TOTAL�trg�job�aid��Read and follow written instructions            x�1.0�95���95�-�-�����������Speak clearly and pleasantly                       x �1.1�90���90�-�-�����������Perform simple arithmentic calculations�2.0�75���75�x�-�����������Use the following tools:�3.0�����������������	hammer�3.1�70���70�x�-�����������	screwdriver�3.2�70���70�x�-�����������	pliers�3.3�70���70�x�-�����������	wirecutters�3.4�50���50�x�-�����������	wire-strippers�3.5�20���20�x�-�����������	push drill�3.6�10���10�x�-�����������	electric drill�3.7� 5��� 5�x�-�����������Read a meter dial�4.0� 5��� 5�x�x�����������Locate an address from a map�5.0�60���60�x�x�����������Drive a light van�6.0�40���40�x�-�����������Measure distances on the ground                x�7.1�80���80�-�-�����������Measure inside distances                             x�7.2�80���80�-�-�����������Distinguish colours                                      x�8.0�90���90�-�-�����������









2.	Trainees should already be able to read and follow written instructions; speak clearly and pleasantly; perform simple calculations; measure distances on the ground and inside; and they should not be colour blind.



3.	1.0:  	reorient

	1.1:	ignore the deficiency

	8.0	if colour blind, reorient the trainee to something else



4.	Item 1.0		performance test in simulated conditions



	Item 1.1		idem



	Item 7.1		idem



	Item 7.2		idem



	Item 8.0		simulated performance (colour blind test)









N.B.			If you had considered the pass criterion to be 70%, then you would subtract items 3.1, 3.2, 3.3 and 2.0.  The first 3 could have been verified by a performance test in a simulated condition; and item 2.0 by a short answer question.
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